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PART A. GRAMMAR – VOCABULARY – LANGUAGE FUNCTIONS

I. Choose the word, phrase or expression that best completes each sentence (3.0 points).

1. I’ve known him ________I left school.

A. when    
B. before      
C. until    

D. since 

2. Ba________  go to Dalat in summer when he was young.

 A. use to 
B. used to
C. is used to 

D. is used

3. He wishes he________  a pilot.

A. were
B. is 
C. will be 

D. can be

4. He________ English for 4 years.

A. learns
B. learnt
C. has learnt

D. will learn

5. She asked me where I ________  from.

A. come
B. came
C. to come

D. coming

6.Maryam and Lan are pen pals, they ________ two times a week.

A. correspond                 B. write letter
C. meet                            D. phone each other

7. My father stopped……….two years ago.

A. smoke              
         B. to smoke         
C. smoking           

D. smoked

8. _____________   in England?

A) Did you ever worked


B) Have you ever worked

C) Worked you   



D)Didn't you have worked

9. Today young generation is fond ___________ wearing Jeans.


A. with
B. of
C. in                      

D. on

10. In Viet Nam, people enjoy ………….newspapers and magazines.

A. read        


B. to read         
C. reading            

D. reads

11. I told you ………the computers, didn’t I?

A. don’t switch off       B. not switch off    C. not to switch off          D. to not switch off

12. Maria: Why don't we eat out in a restaurant tonight?    
John: ________.

A. That's a good idea.   
B. I hope so .  
C. What a pity .  
D. Because we are tỉred
13. S1 : Hello. You must be Maryam.                      S2 : _________________

A. That’s right, I am            B. I may be              C. I must be   
D. I am
14. In the 1970s jeans became cheaper, ................. many people began wearing them.

A. but
B. become
C. so
D. so that

15. Mike: Have you seen John?      Laura: ________.

A. He gone out.
B. Yes, I'm sure   
C. He's happy to do that  
D. He's just gone out
II. Choose the underlined word or phrase in each sentence that is not correct (1 point) 

1. This student used go to school late last year

      A                         B    
         C         D

2. He lived in Ha Noi since he was 12.

             A     B      
   C           D

3. Each year people around the world spending billions of dollars buying goods on the  Internet 

           A



         B


               C

       D

4. His family was poor, because he couldn’t go to school.

     
  A               B            C                         D 

5. My sister enjoys  read about wild animals and natural mysteries.  
 

                      A       B 

       C 

       D

PART B. READING

I. Which notice (A-H) says this (1-5)? Do the matching. (1.0 pt)
	1. This is not for adults.

2. You can’t drive this way.

3. We can help you day and night.

4. You can have dinner here.

5. Come here to book a holiday. 

Your answer:

1…,2 …, 3…, 4 …,5 …,


	
A


B

C

D

E

F


G

H




1______                2_____           3________          4________
5________

II. Read the passage below and decide which option A, B or C best fits each space (1.0 points).

Today, supermarkets are found in almost every large city in the world. But the first supermarket (6)______opened only fifty years ago. It was opened in New York by a man named Michael Cullen.

A supermarket is different (7)___________other types of stores in several ways. In supermarkets, goods are placed on open shelves. The (8)__________ choose what they want and take them to the checkout counter. This means that fewer shop assistants are needed than in other stores. The way products are displayed is another difference between supermarkets and many other types of stores; (9)__________ example, in supermarkets, there is usually a display of small inexpensive items just in front of the checkout counter: candies, chocolates, magazines, cheap foods and so on.

Most customers (10)__________go to a supermarket buy goods from a shopping list. They know exactly what they need to buy. They do the shopping according to a plan.

6.   A. is


B. has been

C. was


D. were

7.   A. in


B. from

C. of


D. with

8.   A. customers

B. managers

C. assistants

D. sellers

9.   A. in


B. for


C. of


D. by

10.   A. who


B. what

C. which

D. whom

II. Read the passage and choose the correct answer(1.0 points). 

Singapore is a small country in the South East Asia. It consists of 35 islands between Malaysia and Indonesia. They together comprise an area of 682.7 sq km. That is slightly more than 3.5 times the size of Washington DC. Singapore enjoys tropical climate. It’s hot, humid, and rainy most of the time. There are two distinct monsoon seasons – Northeastern monsoon from December to March and Southwestern monsoon from June to September. The most common terrain is lowland. Singapore’s highest point is only 166 meters. It has a coastline of 193 kilometers.

11. What does the passage mainly discuss?

A. The economic features of Singapore.
                 B. The geographical features of Singapore.


C. The history of Singapore.

12. What does the word they in line 2 refer to?

A. Singapore’s islands.
B. Malaysia and Indonesia.
C. The islands, Malaysia and Indonesia.

13. How large is Singapore compared to Washington DC?

A. Singapore is about 3.5 times smaller than Washington DC.


B. Singapore is larger than Washington DC by 3.5 sq km.


C. Singapore is about 3.5 times larger than Washington DC.

14. When is the Southwestern monsoon season?

A. From June to September.

B. From March to June.
C. From December to March.

15. What is NOT true about Singapore?

A. It is small.

B. It is a tropical country.
C. It has mountainous terrain.

PART C. WRITING

I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it (1.5point).

1. She last wore that dress at her sister’s wedding.

   =>
She hasn’t ..............................................................................

2. What a pity our teacher can't come. 

  =>  I wish .......................................................................................

3. 1.John smoked a lot  a year ago, but now he doesn’t smoke any more.
   => John used ..................................................................................

4. You live very far from school.
   => We wish we ...................................................... .............................................................. ....
5. People are going to build a new library in the area.
   => A new library ...................................................... ................................................................
II. Write a passage to support the argument that Secondary school students should wear casual clothes.  (1.5 points).
--------THE END-------- 
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PART A. GRAMMAR – VOCABULARY – LANGUAGE FUNCTIONS

I. Choose the word, phrase or expression that best completes each sentence (3.0 points).

	1. D
	2. B
	3. A
	4. C
	5. B

	6. A
	7.C
	8. B
	9,B
	10.C

	11.C
	12.A
	13.A
	14.C
	15.D


II. Choose the underlined word or phrase in each sentence that is not correct (1 point)

	1. B
	2. C
	3. B
	4. C
	5. B


PART B. READING

I. Which notice (A-H) says this (1-5)? Do the matching. (1.0 pt)

	1. A
	2. C
	3. D
	4. B
	5. F


II. Read the passage below and decide which option A, B or C best fits each space (1.0 points).

6. C.
7. B. 
8. A
9. B
10. A

III. Read the passage and choose the correct answer (1.0 points):

11. B
12. A
13. C
14. A
15. C

PART C. WRITING

I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it (1.5 points).

1. She hasn’t worn that dress since her sister’s wedding.

2. I wish our teacher could come.

3. John used to smoke a lot a year ago.

4. We wish we didn’t live far from school / we wish we lived near school.

5. A new library is going to be built in the area.

II. Write a passage of 100-150 words to support the argument that Secondary school students should wear casual clothes.  (1.5 points).
Ss have to write an argument with the form: 

· correct grammar

· good words


· Introduction: (0.3point) - Series of arguments. (1.0points) - Concusion: (0.2 point )

--------THE END-------- 

	Đại Hợp, ngày   tháng 11  năm 2019
TM.BAN CHUYÊN MÔN


	Đại Hợp, ngày 5  tháng 11 năm 2019
NGƯỜI RA ĐỀ

Nguyễn Thị Thu Hà


YOUTH CLUB


Under 16 s only





Half price drinks with 3- course meals!





CITY CENTRE CLOSED TO TRAFFIC ALL DAY TODAY





Tourist information open 24 hours





No petrol station on motorway








TURNER TRAVEL


Fly away to the sun this summer





School office closed for lunch





We repair shoes QUICKLY


8 a.m. - 5p.m.
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